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Addition

Subtraction

Sunnybrow Primary School Calculations Policy

Multiplication

Division

Children are encouraged to gain a sense
of the number system through the use
of counting concrete objects.

2

They combine objects in
practical ways and count
all.

They understand addition as counting
on and will

countonin

ones and

twos using

object GSSSOCO0—COBOS—
S,

cubes, bead string and number line.

a 10

They use concrete and pictorial
representation to record their
calculations.

®®-
n-n-0

S ar s
L

They begin to use + and =
They are encouraged to
develop a mental picture of
the number system in their ansyn-0O
heads to use for calculations.

Higher attaining children may be able to

represent their calculations using
symbols and numbers within a written

Children are encouraged to gain a sense
of the number system through the use
of counting concrete objects.

)

They understand
subtraction as
counting out.

They begin to count back in ones and
twos using objects, cubes, bead string
and number line.

They use concrete and pictorial
representation to record their
calculations.

They begin to use - and =

They are encouraged to develop a
mental picture of the number system in
their heads to use for calculations.
Higher attaining children may be able to
represent their calculations using
symbols and numbers within a written
calculation.

Children use concrete objects to make
and count equal
groups of objects.

They will count on
in twos using a bead
string and number
line.

They understand doubling as repeated
addition.
2+2=4

They use concrete
and pictorial
representation to
record their
calculations.
Higher attaining
children may be
able to represent their calculations using
symbols and numbers within a written
calculation.

Children use concrete objects to count
and share equally into 2 groups.

6 cakes shared between 2 people each
person gets 3 cakes. 6+2=3

They count a set of objects and halve
them by making two equal groups.

They understand sharing and halving as
dividing by 2.

They will begin to use objects to make
groups of 2 from a given amount.

They use concrete and pictorial
representation to record their
calculations.

er
attaining children may be able to
represent their calculations using
symbols and numbers within a written
calculation.
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Objective & Strategy Concrete Pictorial Abstract
Combining two parts to L +3=7
- : BEL  |10-6+4
& i
Wlu\ 2 % % -
whole model. se pictures to add -—-.
Use cuhes to add. twor ...|.. twcrnmnhmtngzﬂw .
numbers. together as a =3 as o group or in.a Use the part-part whole dingrum. as.
group or in a bar. bar shown. ahove to move. into the ahstmet.

Starting at the higger
numhber and counting

head. string

nEsWer.

e
e—

Start with. the larger number on. the.
and. then count on. to the
smaller number1 by 1 to find the

12+5=17

) M0 1M 12 13 %4 95 18 17 18 18 2D
Start at the larger number on the numhber
line and. count. on. in ones or in one jump.
to find the answer.

12+5=17

Place the larger number in your head
and count on the smaller number to
find. your answer.
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7+ 4 =11

- 6+5=1
“If I ame at seven, how many more do
Start with the. 3+8= the smaller number I need to make 107 How many more
E higger number and to make 10 dol add on now?”
" o | 9tA%H
numhber tor moke (] [4] +1 i
10. I R WY R R R TR R TR T )
Represent & use numher - - Emphasis should he on the language:
honds and related POy oy REREREERRE
| jom fact ithi - LED “1 morve than 5 is equal to 6"
20 2 more than 5. I -

2 morethan 5 is 7"

‘8 i3 more than 5"
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Ohjective. & Strutegy Concrete Pictorial Abstract.
Adding multiples of ten.
50 =30 + 20 20 + 30 = 50
l . ' ' l O =50+ 20
Matdel using dienes and, head _ 40 +__= 60
s Use representations for hase. ten.
Use known number facts % Include teaching of the inverse of addition
including different > Children, e [] and subtraction:
Uftmg 10\% & Wi j_ D+I:1ﬁ 16 1:[_]
ones of any 2 digit s of making [(+[ ]=20 20-[ |=[] .
number. numhers. |_|+ =90 20- _J 1+|::1E |E—E:1
(Part part whole)
Use known facts. e = & T+ 4= 7
O O | O ets
O+ 8,0 - S0 0+ iy = Iy Leads to
EE . EE — Bl 30 + 40 = T0O
+ = [ | e EEE
mEm
Leads tor

Children drow representations. of H, T
& 0.

300 + 400 = 700
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Use har models.
00 ecee | NmENN | [ -
AA AN S\ A, ?
3+4=7 .
7ox3m 0 23 + 25 = 48
Add a two digit number| |@|9|S|S|® 17 +5=22 17+5= 22
and, ones. 00000 7+5=22 Use part part
Q0000 /\ Explore related facts:
UL:' w . Useterbfrmmw @ whole and number
=T 1 make ‘magic ter. @ line to model. 17+5=22
| 1647 5+17 = 22 -
¢ 22-17=5 17 | s
Children explore the pattems: @ iR 22 - 5= 17
a6 23
17 +5 = 22 27 +5 = 32
Add 2 digit numbers. .
and tens. // 27 + 30 27 +10 = 37
10 +]0 +]0
I 27 +20 =47
25 + 10 =35 o AN
T T 27 +__=57
Explore that the ones digit does W27 37 47 57
not change.
AddtM/U’Z‘dlglb a o 20 3 o2 25+4
numbers. ¥ e el ' : 7 L \\
: Oy ¢ > 3 v 20 + 40 +
0 47 &7 72 ar o7 70 72
20 +40 =60
Modzl,usugdwws,plawvuhwcowm Usemunherli:wcu}d,hridge,tenusing 5+¢7 =12
and, numicon. part whole if necessary. 60+ 12 =72
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Add three 1-digit 4+7+6=17
numhers. Put 4 and 6 together to make 10.
Add. on 7. y.;. ﬁ,.,.% 447 +6)= [10+7
"-m— 10
B Regroup and draw representation. =17
S e Combine the two numbers that
, make/bridge ten, then add on the third.
Following on from making 10, make 10 + =15
with 2 of the digits (if possible) then add
on the third digit.
Rapid Recall
addition and e Bonds within 10 S e
W, e Bonds within 20 Strategles
e Bonds to 100 (multiples of 10) Add/subtract 9, 19, 29...
e Add single-digit to make a multiple of 10 Partitioning
e Add near doubles
e Reorder
Count on/back in 10s.
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Objective & Strutegy Concrete Pictorial Abstruct
Column Addition - 24 +15 = After practically using the base 10 Add the ones first, then the tens, then the
(friendly numbers) T o l @ | ® children can draw the counters to help. 223
o e R e 0000 @eee® |them to solve additions. 444
oI oa S ek
Add 2 or 3 digit Wi MEM ® "'“‘ T o 337
numhbers. i,
Base 10 hlocks first hefore moving onto 00 o000 Children use the 'steps to success’ to
“Staps. for Success’
ey b e ks
Column Addition. - with.| Make hoth. numhers on a place value Children can draw a pictorial Children follow the. StepstoSua:ms to
place value counters to further correctly:
O ® | ® 146 support their leaming and Sy
e A 227 undexstanding. ' HT O T O KT O
®®®®®z. 137®25 =162
e 32 o0 oo 1—1
e o0Ce ¢o * e HIT|O Alwoys start in the ones.
886 009 == = _1|3)? cotumn and work to the left.
oo :: ® 0.: (’./'__’_2_'_1

Add up the units and exchange 10 ones.
for one.10.

_._::2 Don't forget, if yow poss ten, save it
below the line and. add @ on later
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Add up the rest of the columns,
exchanging the 10 counters. from. one
column for the next. place value column
wntil eveny column has heen added.

This can also he done with. Base 10 tor
help. children clearly see that 10 ones.
equal 1 ten and. 10 tens equal 100.

As. childrenn move on to decimals,
money and decimal place volue
counters: can he used to support
leaming.

&s. the children move o, introduce.

d
d

used. for context.
728 £ 2 3 ;5
+54.6 £ 7 5
127 4 3 '; II ]I
11
23 0 3 o6 1
9 . 0 8 0
59 7 7 0
+ 1 0 0
9 3 =01 1
1
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Objective & Strutegy Concrete Pictoria. Abstract
L
Year 4 Children. continue. to use dienes. or place Drow representations using place volue | Continue from. previous work to carry
Add numbers with up tor | value counters to add, exchanging ten grid. hundreds. as well as tens.
4 digits ones. for a ten, ten tens for a hundred. and
ten. hundreds for a thousand. ee 3% oo :: Relate to money and measures.
e *
Hundreds | Tens | Ones % ge | I""‘.
= ** go | [%@s 31517
L .
7 1 5 1 +| (3(AG]
__ T o _ _ 3413
Year 5 (As year &) (As year &) (As year &)
Add numbers with maore
than 4 digits. Introduce decimal place volue counters. and 23T +8B1.79
muodel exchange for addition.
e I L e 72.8 E 2 3 5!:’
Add decimals with. 2 J‘i
decimal ploces, tens| ones 4 tenths | hundredths II " ﬂ}: +24.6 L3 "E- 7 s 5
including momey. — - - 127 4
O | [z pree e | S52 €3] 14
L
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(As year 5) (As year 5) Insert zeros for place holders.

Introduce decimal place value counters and 237+8179 -
model exchange for addition.
s

tens| ones 4 tenths| hundredths

@ R o [
@ ‘. -
D

PrNWNO W

— O] »
Q00—

—

Year 4
Rapid Recall
(addition and

e Sums/differences - multiples of 10/100/1000
¢ Doubles -~ within 100

¢ Add/subtract multiples of 10/100/1000
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Objective & Strutegy Concrete Pictorial Abstract
Taking away ones from. | Use physical objects, counters, cubes etc. to | Cross out drawn objects to show how 4-3a
a whole. show how ohjects. can he taken away. many has been taken awuay. The bar

=4-3

4-3«1

model can also he used.

Counting hack.

Counting back (using numhber lines or
number tracks) children start with 6 and.
count back 2.

Y A
Fx[zlaja‘[s[s:7l:[9[101

Ts (6 7*81‘j

Children to represent the calculation. on a
number line or number track and show
their jumps. Encourage children to use an
empty number line.
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Finding the difference. Finding the difference (using cubes, Children to draw the cubes/other Find the difference hetween 8 and.
Numicon or Cuisenaire rods, other objects concrete objects which they have used
can also be used). or use the har model to illustrate what 5. 8 - 5, the differences is...
they need to calculate.
Calculate the difference hebween 8 and. 5: Children to ex
00000000 o
) 9-6=8~5=7 -4 havethe same
dfffaaee "
MEAeS =
? 7
Represent and. use Link to addition. - use the PPW model to Use pictorial representations to show Move to using numhbers within the part
number bonds and model the inverse. whole model.
within 20.
(Part part whole maodel)

If 10 is the whole and 6 is one of the
parts, what is the. other part?
10-6=4
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Objective & Strateqy Concrete Pictorial Abstruct.
Partitioning to subtruct | Use dienes to show how tor partition the Children drow representations. of dienes.
- without regrouping. |1umher.l.-.rhm1;5u.hxm.|:th1g wiithuout and. cross. off.
reqrouping. = e
(friendly numbers) —_— 53 -2 = 43 - 21 = 22
34 =-13=2 22
[
e O
Making ten. Use a head string to model counting tor Use o nwmber line tor count. on tor the
the next ten and. the rest. next ten and. then the. rest.
(crossing one ten, 34 - 28 = 93 - 76 =17
crossing more than one i iy 1 10 1
ten, aossing the =k 76 0 o w0
hundreds) E e , couniing on’ 1o find ‘diflanenos

[
b
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Objective & Struteqy Concrete Pictorial Abstract
Column. subtraction Column method. using hase ten. Children to represent the hase 10 Ez};nmmwwd,orchﬂdmwuld,wum
D s .| [ s M L 8
2 ) ‘ [Os , e
S T BN -1 7]
4 1 4 |
Children use their ‘Steps to Success’ tor
format the question correctly:
"Stape for Success’
1. Vete gour alodetion, kabel por digis ond trtls e

B

1 Uia 2w meattord to cakissi S\ Qe
© Write the answer ol the snd of the calcadstion,

Column subtraction with, | Column method using base 10 and Formal column method using "Steps to

having to exchange. Success’. Children must understand.
- g what has happened when they have
41 -26 = - Subgraction «

aossed out, ; ,

T 0O KT O
d:.g'izs‘ 16 202 7

=135

0s | s Vs | s

ELER

“2.7:'0 Sart in gowr ones, If you can't.do
1/8/2 & onchange10 or 100 naross.

u\' '

© 217
315 Remamber o kesp your exchanges
small and tidy wo o don't get.
T ] confesatt
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Objective & Struteqy Concrete Pictorial Abstract
Year 4 Model process of exchange using numicon, Reptumtmzplamvuhwwunws Formal column method. Children must
Suhtrum:\gmand, hase ten and then move to place value ; remembering to show what | understand what has happened when
ones - up,w[’ dlgl‘&. counters. s hns«hwwxdmngm theg hnve,a'ossed,oubdagm
i ) -
(introduce decimal |
' & @®® @@GG ..... 2 ? S L'-
elstL::: [1119]2
@ 000
Year5s Model process of exchange using numicon, | Represent the place value counters. Formal column method. Children must
Subtract with. at least 4 haszw»and,thennwvew.:lamcgvuhw pictorially; remembering to show what | understand what has happened when
e Ao 234 - 179 = Use:zenon Jor place hotcer;
] @ ] '3"'/'0 :3"6
(subtruat,wuhdzanml, o0 000 [eeee = 2129
mixtures of integers and ® _Q_@__::: 2 8,‘1 28
decimals and. aligning bk
the decimal) [ less TH'e A -0
= 137225
G 796! - iS
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Year 6 Model process of exchange using numicon, | Represent the value counters Increasingly large and more complex
Subtract with hase ten and. then move to place value pictorially; to show what | niumhers.
; ; - has heen exchanged. ST
increasingly large, S YE16,6 9 9
Qn"w: 2 I 3 3 g qu l‘" q
cleckuy i, @l e | © ©0,750
00 |00 0000 YRS -k 9
-_36-080%k
@ 000 3
ﬁ%ooo 69 3394
@ L X 1]
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Objective & Strategy Abstract
Douhling numbers. Use practical activities using manipulatives. | Draw pictures to show how to douhle Partition. a numhber and then douhle
including cubes and Numicon tor numbers. each part hefore recomhining it hack
Double 4 is 8
/ (] + = (X 16
N mEE pE@ / \
B O+00= | 0 10 6
IxZ x2
e % =@ 20 + 12 =32
Counting in Count the group as children are skip. Children. make representations to show Count in. multiples of a number aloud.
multiples. counting, children may use their fingers to- | counting in multiples.
help. Write sequences with. multiples of
— -4t S
. . ‘ . 2,4,6,8,10

/\ "_\-/"\/ \.«’\N*—\

emoao o Cleglo ole® 600@91
O T o " "~ I I

2

A
20

5, 10, 15, 20, 25, 30
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Repeated, 3x4 = Children to represent the practical resources i
grouping/repeated. L+ 4+ 4 = @ picture and use a har model
addition. There are 3 equal groups, with 4 in I x4 =12
4 +4 + 4 =12
Understanding Use objects laid out in arrays to find the Draw representations of arrays to
arrays. answers to 2 lots of 5, 3 lots of 2s. demonstrate understanding.
P e . = 3x2=6
J O8] ] V4
1 a'gg —t j:
—_— e—_— l
. 2x5=10
P & O o )
P & O @& o
g ® O , @
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Objective & Strutegy Concrete Pictoria, Abstract
L
Doubling numbers. Model doubling using dienes and. place Drowr pictures and. representations tor Partition. a- number and. then douhle.
volue counters. demonstrate. how tor douhle numbers. each. part: hefore. recomhining it hack
Doubling 26 together.
%E ove 16
nen / \
/ ' \ 10 6
! A Itl I:-cE
: o see 20 + 12 =32
Counting in Count the groups. as. children. are skip. Number lines, counting sticks and bar models: | Count in multiples. of o number aloud.
nu_dijplg&,ale [ counting, children. may use their fingers to should be used to show representation. af
and. help. Progress onto bar models. counting in multiples. Write sequences. with multiples. of
10 from. 0. _ | s, gl i, numbers.
) e ———— e ——— el 0.2 468 10
(repeated addition) 545454545454+ 54+5=40 ¥ eV S NEN
. a A A 0,3 6,9, 12,15
0, 5, 10, 15, 20, 25, 30
i [ [
Lfwid = _




Sunnybrow Primary School Calculations Policy

Create arrays using counters, cubes and

Use representations. of arays to show
different calculations and explore

12=3x 4
12=4x 3

Use an array to write

multiplication sentences and
reinforce repeated addition

00000
Q0000

00000
5+5+5=15
3+43+43+43+43=15

5x3=15
3x5=15

X

QOO0
HiEn{n
HiEInin

o

x4 =8
x2 =8
+2=4
+4 =2
= 2x4
= 4x2
=8+ 4
=8 + 2

£ N oo oSN

Show all 8 related fact
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Objective & Strategy Concrete Pictorial Abstract
The grid method. Show the links with arrays to fust introduce. | Children can represent their work with place. | Begin with multiplying by one digit
value counters in a way that they numhers and showing the clear
They can draw the counters using colour tor = .
show different amounts or just use the x 30 5
circles in the different columns to show their 7 210 35

4 rows of 13

Move onto place value counters. to show

how we are finding groups of a numhber.
We are multiplying by 4, so we need 4

Mws...

® © e I e
|
Fill each row with. 126...
o

Add up each column, starting with the ones.

thinking.

Bar models are used to explore missing
numhers.

o

ax =20

210 + 35 =245

Moving forward, multiply by a 2 digit
within the grid method.
10 8
10 100 80
3 30 24
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Then youw have your answer.
Rapid Recall

[nudﬂplmtlmm * Multiplication. and. division facts for 2, 5,
division. 10, 3, 4 and8 times tables.
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Objective & Strateqy Concrete Pictorial Abstruct
The grid method Use place volue counters to show how Children. can represent their work with place | Multiply 3 digit by 1 digit numbers.
Emp,fmvmrgfﬂr we are finding groups. of o number. value counters. in a.wuay that they using the grid method.
2 digit x 1 digit). We are multiplying by 4 sowe need 4 understand.
POWS.
®@ @ e —— They can drow the counters using colour to

: =y WL o showr different. amounts. or just use. the
hildren -
c - ngmf I EEE H circles in the. different columns. to shows their X 300 20 7
multiplying 3 digi | ) thinking. 4 | 1200 | B8O |28
numhbers hy 1 digit Fill ench. row with. 126.
(Year 4 expectation). 8 v e 1200 + 80 + 28 = 1,308

£

Add. up each. column, starting with. the.
ones making any exchanges. needed.

X3 =72
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multiplication. This is ini done where
there is no

regrouping.

321 x2 = 642

_____ B
_ BTG

Itis

important at this stage that they always

multiply the ones column first.

The. ling long multiplication is

T P

%
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Column Children can continue to be supported by | The grid method may be used to show how | The grid method. can then he progressed
Multiplication. plamvnhwcmuuusut,t}ussmgeof this relates to a formal written. method. (see. | onto the compact method.

ool N

3
X
| [3

POl N
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Objective & Struteqy Concrete Pictorial Abstruct
Column Multiplication. | Children can continue to he supported by | The grid method may be used to show how | The grid method can then be progressed
(3 and 4 digits x 1 place value counters at this stage of this relates to a formal written method (see. | onto the compact method.
digit). multiplication. This is initially done where | abstruct column).
there is no regrouping.
3|27
F{.} x [300 20 |7 x m
2 | 1200 |80 |28 5
‘ 5 | |3 8
wi |- o
Column Multiplication | Manipulatives may still be used with the Progress to using the column method
- Long multiplication.| corresponding long multiplication modelled for long 1|8
ulcmgs:d& (ZZX-31) ] nudnphmnm 313
00 0O - L Is]e] -
fO 00 OO | 2.3 4 ll B4
000 O © 3 w16 S
| 7 U 0O I (123axe)
©00 © 0O Continue to use har modelling to support f' 23 4 O p2ax0
problem sotving. 9,744
000 00
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Rapid Recall

¢ Square numbers to 144

(multiplication and, e Estahlish whether a numher is. prime. Strategies
division ¢ Recall all prime numbers up to 19

X by 9
e X/+ by 10/100/1000

o A TN
Use what you know to...
x/+ by 5/50/25
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Ohbjective & Strateqy Concrete Abstroct
Column. Multiplication. | Manipulatives may still be used with the. Progress tor using the column methord.
- Long multiplication.| comresponding long multiplication. madelled forlong K
alongside. mualtiplication. - rar
fo 5|4
12 |0
Continue to use bar modelling to support. " I g_

i .;:, I, (1234 x8)
2 I:|=C-" (1234 u 10
I 9,740

up to 2 decimal

places hy a single.

Remind children that the single digit
belongs. in the ones. colwmn. Line up.
the decimal points. in the question.

o s,

1 19

3.
x 8
2332
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When appropriate, children can use
their place volue knowledge. to- make.
the number heing multiplied. 10, 100
or1000 times. higger and then
multiply and make the answer 10, 100
or 1000 times. smaller.

319xion)
X 8
2552100 = 25.52
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Objective & Strutegy

Division as sharing

12 shered between 3 5 4

To progress further, children. can then
he moved onto:

‘6 shared hetween. 2 is. 3’
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Objective & Strategy Abstract
Division as sharing I have 10 cubes, can you share them into 2 | Children use pictures or shapes to share
equal groups? quantities:
[8+2=a]
Children use har modelling to show and
support understanding:
12+4=3
Division. as grouping | Divide quantities into equal groups. Usemunherlines_forgrm.ping
Use cuhes, counters, ohjects or place 28+7= &4
0123458788 ton12

l..... OOOCOLOQ.“ .OO..I”.“ ...“IO.I“I

i
" " n ‘. n

000 000 000 see
Use har model to support with division:

20

205 9=?
S17«20

Divide 28 into 7 groups. How
many are in each group?
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Division using R subtraction. using Cuisenaire Children. to represent repeated subtraction. | Abstract number line to represent the
sed subtreiction rods ahove a ruler: pictorially: equal groups that have been
6+2 subtracted:

3 groups of 2
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Year 3 = Divisiomy
Objective & Strutegy Concrete Pictorial Abstruct,
Division with arrays | Link division to multiplication by Draw an aray and use lines to split the Find the inverse of multiplication and.
creating an array and thinking ahout the | array into groups to make multiplication. division sentences hy creating eight
number sentences that can he created: and division sentences: linking number sentences:
- e ® S Tx4 =28 4 x7 =28
28 +7=428 +4 =7
28 =Tx428=4 x7
- - : : 4 =28+ 77 =28 +4
15+3 =5 5x3=15 15+3 =5 5x3=15
1545 =3 3x5=15 15+5 =3 3x5=15
Division with. This can be done with lollipop sticks or Children to represent the. loilipop. sticks. 13 + 4 = 3 remainder 1
remainders Cuisenaire rods: piczminl.lg:

1B3+4

Use of lollipop sticks to form wholes-
squares are made hecause we are dividing
by 4.

There are 3 whole squares, with. 1 left over.

There are 3 whole squares, with 1 left over.

Children should he encournged to use
their times tahle facts; they could
also represent repeated addition. on a
number line:

‘3 groups of 4, with. 1 left over’
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Objective & Strategy Concrete Pictorial Abstract
Short division with a. | Short division using place value counters Children can continue to use drawn Begin with divisions that divide
remainder to group: diagrams with dots or cirdes to help them. equally with no remainders:
615 + 5 divide numbers into equal groups: 2 1 8
Year 4 3
Up_to3 digits by 1 /OO @]e) OO\ 4|8 7 2
S OO OO OO Mowe onto divisions with a remainder:
Year 5 8 6 r 2
o . s
qua dlgtmhg al 1 - - However, chudmshnuld,hemumgedw 5|4 3 2
digit with. remainders move towuards counting in multiples to
Yearé L Make 615 with place value 0663+ 5
s ,o q
Upto 4 digits by a1 | Sounters: 8)573
digit and t 2 How many groups of 5 hundreds
can youw make with 6 hundred. Year 5/6
AT (S 3 Exchange 1 hundred for 10 tens. expressing the remainder as fractions
youw make with 11 ten counters? 663.625).
5 Exchange 1 ten for 10 ones. 846 + 4
6. How many groups. of 5 ones can I
youw make with, 15 ones? 1
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_ng'm,hg modelling method with a 1-digit divisor.

Diwide :

Multiply :

Subtract :

Long Dévision

Bring down :

Repeat or
firsel thee

Remainder :

Check :

2 —+ Dividing 7 tens by 3,

we get 2 tans, and
SOMmdE extra

5B —= IxZiens = 80 tens

E_ —+ Subtracting & tens
1

fram T tens

14— 1ten 4 ones = 14 ones

£ S=e Dividinig 14 anes by 3,

we get 4 ones and
BOMee Extra

&
14
- 12— 3x4 ones = 12 ones
2 -

Rermadnder

Chack your answar

Dhivichen

o = Divisor = Quotient

+ Remainder

Divide- the number inside the house with. the number outside.
of the house. Put the answer on top.
Multiply -the number outside. of the house. by the number on

top of the house. Put this answer belowr the. number inside. the
house.

- the. number inside the. house from the numhber below

Bring dowr- the next nuwmber in. the dividend.

- all the steps. repeated. 0s many times. as needed. until
youw get down tor 0.
If there is. a. leftover this. is- yowr remainder.

When moving ontor using long division with a 2-digit divisor,

226710

22, 44, 6b, 88, 110 etc
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25.2

2)126.0
10
26
-25
10
-10
0

When there is- @ remainder which you need to write as a
decimal, bring down the. O in the from. then tenths column, and
repeat. the process. as. hefore.




